
-0
.1

0.
1

0.
3

0.
5

nsample=250

bias.alpha1$lambda[n250]

B
ia

s 
av

. f
or

  α
1

nsample=1000

bias.alpha1$lambda[n1000]

0.70 0.85

-0
.1

0.
1

0.
3

0.
5

bias.alpha2$lambda[n250]

B
ia

s 
av

. f
or

  α
2

0.70 0.80 0.90

bias.alpha2$lambda[n1000]

bi
as

.a
lp

ha
2[

n1
00

0,
 3

:5
]

0.
0

0.
2

0.
4

0.
6

0.
8

1.
0

nsample=250

S
E

 a
v.

 fo
r  
α
1

nsample=1000

0.70 0.85

0.
0

0.
2

0.
4

0.
6

0.
8

1.
0

S
E

 a
v.

 fo
r  
α
2

λ
0.70 0.80 0.90

S
E

.a
lp

ha
2[

n1
00

0,
 3

:5
]

λ

0:
1

OLS
GLS
Reg. Cal.
0


